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(1: (a) What is the & s complement of an octal number 7654321 7
{b) What is the 7’s complement of an octal number 7654321 7
(c) Convert the octal number 7654321 to hexadecimal number.
(15%)

()2: Use K-map method to simplify the following Boolean function in (&) sum of
products and (b) product of sums.

F(w,x,y,2) = X'y +xX'2"+wW'xy’z

diw,x,y.z) = 2(4.6,14)
(205%%)

Q3: (a) List the truth table of a function F(A,B,C,D) = A@BECED where the symbol
& denotes the Exclusive-OR function.

(b) List the truth table of a function F{A.B,C.D) = AGBGCOD where the symbol ©
denotes the Bguivalence Amction. .

{10%)

Q4: (a) Use a decoder to implement the following Boolean function:
Flw.x,y,z=x(0.1,2,3,4,11,12,13,14,15)
(b) Use a multiplexer to implement the same Boolean function
(20%)

(25: Given you the flow table (after state reduction) as shown below,

(a) Assign output values to the dashes associated with the unstable states.
(b) Design the asynchronous sequential circuit without using SR latch,
(¢) Design the asynchronous sequential circuit using SR latch.
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